CARRY ON
1. frozen food, 8 items
2. tins and bottles, 12 items
3. bread cakes and biscuits, 11 items
4. fresh meat, 7 items
5. milk and dairy, 9 items
6. fruit and veg, 10 items
[bookmark: _GoBack]The process 
The bag with seven items is in the front row (clue 3), so it doesn’t contain tins and bottles (clue 1). Nor does it contain bread and cakes (clue 2) or milk and dairy (clue 1). There are eight items of frozen food in one bag (clue 3), so the bag with seven items in also can’t contain  fruit and veg, of which there is one item fewer than there are of bread, cake and biscuits (clue 2), so there must be seven items of fresh meat. The meat isn’t in bag 6 (clue 4) and bag 5 contains the milk and dairy items (clue 1), so the 7 items of fresh meat must be in bag 4. So, from clue 4, there must be 9 items of milk and dairy in bag 5 and, from clue 1, tins and bottles must be in bag 2. From clue 2, the twelve items can’t be in bags 3 or 6. Nor, since the tins and bottles are in bag 2, can there be 12 items in bag 1 (clue 2), so there must be twelve tins and bottles in bag 2 and from clue 2, the bread cakes and biscuits must be in bag 3. From clue 1, there must be eight items of frozen food (clue 3) in bag 1, leaving the fruit and veg in bag 6. Finally, from clue 2, there must be 10 items of fruit and veg, leaving eleven items of bread cakes and biscuits in bag 3.
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